|

- 1. The Elephanta cave temples were gq

named during the times of which L. qﬁ:‘im TH ARG & Ay e g 3
rulers? . St
(A) The Palas _ (A) are
(B) The Chalukyas - (B) =T
(C) The Cholas ' (O W
(D) The Rashtrakutas (D) TEgHe
2. In which plac? were the Vijayanagara - 2. foomAR AT % dew wwi w Ay
empire ruins found? g ;
(A) Gulbarga B) Hampi %ﬁ (A) T (B) =t -
(C) Bidar D) Rekhigarhi | 258 © (D} ey
3. After suppression of the 1857 rebellion, 3. 1857 & e % 7o % 12 et e e
Mughal ruler Bahadur Shah Zafar was e TR &t <t Fratfi fmar w41, a5 wm
exiled to - =4
(A) The Andamans (B) Nepal (A) ST  (B) MW
(C) Bhutan (D) Myanmar (C) e (Dr ®=mR
4. Where was the headquar f th : :
The‘osophical Sokrl:iet}'qest:gfisstfed i; * mw T R A A
India? . :
(A) Calcutta (B) Poona NUA S (B) T
(C) Bombay (D) Adyar (C) sw=2 (D) ¥R
5. Who surrendered the knighthood ‘Sir’ 5. fetarer amT T ¥ A e ¥ W
after the Jallianwala Bagh Massacre? STy ara| R Sy @Y7
(A) Syed Ahmed Khan ) (A) &7 e @l
(B) Chhotu Ram )
(C) Haider Ali - | <y B ®
(D) Rabindranath Tagore DY iR
oo b B
i Nicobar iandsis presently named | | 6+ 9% Prtare des w wh g v o
after which eminent personality/person? : fore RN & AW W @ 172
(A) Veer Savarkar - (A) 9R HEER
(B) Subhas Chandra Bose - -
C) Sarda_;', Bhagat Singh (C) FER W e
(D) Bankim Chandra Chatterjee (D) afen g Tt
' with the title : :
i 2;°B$;dsr??§ ;ﬁima? 7. hamn i ‘o Tergt faare & 9 wEfE g
(A) Rao Tula Ram (A) = gemA
(B) Rao Virendra Singh (B) = it fie
_(©) Rao Indrajeet Singh . (O T vl fiw
(D) Sir Chhotu Ram e DY T Bgm
/1-A : _ : 3 | B.T.O,
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10-

11

12,

'base;l on an incident

13.

f
ovar 0
Who called the Brahma Sar

Haryana as a miniature s€a?

(A) Abul Fazl

(B) Swami Paramanand

(C) Swami Shraddhanand .

(D) Swami Gyananandji Maharaj ”
At which place of Haryana .dl-
Muhammad Ghori defeat Prithviraj
Chauhan?
(A) Tarawadi
(C) Taraori (D) Titram

Who among the following was not the
Governor of Haryana? _
(A) Mahabir Prasad

(B) Acharya Devvrat

(©) Jaisukh Lal Hathi

(D) Paramanand

(B) Nilokhedi

Which of the following is false regarding

the State of Haryana? o

(A) Baje Bhagat belonged to Haryana

(B) General V.K. Singh was born in
Haryana

(C) Gulab Chand Ka
Haryana _

(D) Arvind Kejriwal belongs to Haryana

Who was the actress of the film ‘NH-10’

in Haryana?

taria belongs to
e Y

(A) Anushka Sharma
(B) Kareena Kapoor

(C) Parineeti Chopra
(D) Mallika Sherawat

What is the name of the former Chief
Minister of Karnataka, who is also the

_father of Karnataka’s Chief Minister

14.

15.

/1A

Basavaraj Bommai?
(A) R.S.Bommai

(B) V.R. Bommaj
(C) S.R.Bommai

(D) None of them

Who won the gold medal for India in
Wrestling ‘

the 2021 World Cadet
Championship?

(A) Mirabai Chanu (B) Priya Malik
(C) Saina Nehwal (D) P. V. Sindhy
What is the full name of the badminton
player P. V. Sindhu? :

(A) Pusarla Venkata Sindhu

(B) Pratibha Venkata Sindhy -

(C) Priyanka Venkata Sindhu i

(D) Pundeswari Venkata Sindhy

8. F&m%a@maﬁm

\9.

=

11.

ﬁ

TRTHIR 25 7 A
(&) 3 o
(B) w&mit wyrz
(C) wmi ge
(D) =it st sramsr
W‘ﬁﬁ%qﬁmﬁmﬁm%ﬁm
®H R &ar ar7.
(A) st (B) et
C) & (D) frem

10. sﬂﬁ%aﬁvaﬁwﬁmaﬁ&?
(A) werER ware (B) AT a3
© et (0)
ﬁﬂrﬁﬁﬁmnm%mﬁﬁmmm%?
(A) A o e % Y

12,

13.

14,

15,

B mzﬁoﬂ:ofégmrmsﬁmnﬁgm

(©) T+ = werar ghamn &

(D). srfm St g % §

RO 157 it o e v et Rt ‘oo 10
H1 3 H oty ;
(&) s o (B) =T FR

© wfofifs St (D) wfywr S
Frilees S qervH awaw a3 R, 2w
& o Ten @, 97 W w2

(8) 3o G e (B) o 3o e
©) o o A (D) T A P G
TRT & foru fava e et Shaafim, 2021 #
! v R st ? '

(A) *Hrreé = 8 firar wfirw

© wemigmm () o o fiy
%ﬁaﬁa@ﬁoﬂoﬁgﬁi@WW%?
(A) T8l Fore iy

(B) Wit ¥z iy

©) Pt e firg

(D) Ioewad e firyg
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16-

17.

18.

19.

20.

21.

22.

23.

vani?

The words ‘Khela HObE’:’became TR
in which of the following States’ Pojisp

) puducherry  (B) est Bengal
(C) Assam (D) Tamil Nadu

s the director (2021) of Akaash

ri(=l
o

() N. Venudhar Reddy %ﬁ
(D) Rahul Sachdeva |

Bhopal Singh Khadri is the Chairman of

who

the Haryana Staff Selection Commission.

What is meant by ‘Khadri’'?

(A) Name of caste /community
(B) Name of family tribe

(C) Belongs to Khadar region
(D) None of the above

Who is the Chairman of Haryana’s Gau
Seva Aayog? y

(A) Sarvan Kumar Garg

(B) Bhani Ram Mangla

(C) Gyananand Ji Maharaj

" (D) Vijay Pal

What is the position of Bandaru
Dattatreya as the Governor of Haryana?
(A) 16th (B) 18th

(C) 17th (D) 20th

Name the Minister of Uttarakhand who
is related to Haryana. -

(A) Ganesh Joshi

(B) Satpal Maharaj

(C) Swami Yatishwarananda

(D) Bishan Singh

Name the MP from Haryana whose
father has died recently.

(A) Ratan Lal Kataria

(B) Nayab Singh Saini

(C) Arvind Sharma

(D) Sanjay Bhatiya _
What is the most distinguishing feature
of the Home Minister of Haryana?

(A) He is highly educated

(B) He has served as Home Minister

earlier
(C) He is unmarried ;
(D) He has been & police officer

vt p 5 R

16. ‘aan e wim R T & A A wfdg g

17.

18.

19.

20.

21.

®) 35 By e e
() I (D) afirerTg
srerraramolt 3 PSR (2021) ®HF €7

(A) Teia ATcd

(B) 3T AFTEHAT

(C) To IR G

(D) T EAT

R FEER A S & HeAd A fie

acht §) agt “agd’ A F A &7

A sTfd &1 9/ THed

(B) T T AT

(C) @I & & HRT

(D) Iwreh # & FIE T
-sﬂmvnﬁrﬁﬂmm%awaaﬁﬂ%?
v{ﬁ'_ata‘rr-gﬂﬂﬂﬂ -

(B) ST el

(C) TG ST HERTS

(D) fesma Trer
W%Wmm%&mﬁ%?
(A) 169 (B) 184

(c) 174 (D) 203

Serave T § @ W e 8, R w6y

. ghamm @ 87

22.

23.

() ot St

(B) AU HERM

(C) @t AT

(D) e fire

Raron & W@ B wiwg €, fs e w5 7y
AR

(A) T FAT

(B) = fig &t

(C) fag i

(D) &t wfea

o % Tensh H wa a0 e e
(A) 3 3= fufia €
(B) ¥ weat *ft e @ TH ¢
(©) ¥ sifeanfea &
(D) 3 gfra aifrerrdt @ I €
[P.T.O.
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24.

25.

26.

27.

28.

29.

30.

Who among the following has not been
the Home Minister of India?

(A) Jagmohan

(B) Umashankar Dikshit
(C) Charan Singh

(D) Indira Gandhi

Where is the headquarters of the Home
Ministry of the Government of India
situated?

(A) Griha Bhavan

(B) North Block

(C) Shastri Bhavan

(D) Prad.han Mantri Awas

e

Name the leader who served as the
Home Minister and later became the
Prime Minister of India.

(A) Indira Gandhi

(B) Manmohan Singh
(C) Atal Bihari Vajpayee
(D) Ballav Bhai Patel

Who among the following is not a police
officer of Haryana?

(A) Mohammed Shayin
(B) Hamid Akhtar
(C) Mohammed Akil
(D) O.P. Singh

The scientific name of goat is

(A) Capra Aegagrus Hircus

(B) Bos Indicus

(C) Sus Scrofa

(D) Ovis Aries

Which of the following districts of

Haryana is not actually a district but a
police district?

(A) Dadri (B) Hansi

(C) Gohana (D) Kosali

What does the word PST mean in
Haryana Police Recruitment?

(A) Physical Speed Test

(B) Physical Street Test

(C) Physical Screening Test

D) Physical Score Test

1A

24-

25.

26.

27,

28.

T} B WA & Jeneh A @ €2

(A) SmrEA

(B) ISR Siftra

(C) = firg

(D) sfe wiieft

gﬂﬁm%ﬁmﬂw?ﬁﬁw%ﬁ
5

(A) T& 7w

(B) =id =t

(C) el wam

(D) wawm=h smamg

/Xt S/ /it & of vge 78 wE <@/

e ai ame 3 R /e e o A
(A) sfezrriely

(B) wien fiw

(C) srea faerdt st

(D) g e v

¥ A B gharn w1 i st 7@t 22

(A) Hiewrg yrdA :

(B) wfig SR

(C) rewg sifepet

(D) 3ito o firg

R F awiE A R

(A) T T fecaer

(B) g sfewa

- (©) g i

29,

30.

(D) srfae s
&an # wi-ar frer fafteg w9 @ frer 2@

TR gfer forem 2
N

(A) Tl
(C) Mrerm (D) Prasi

Wﬂﬁﬁmiﬁﬂ?ﬁﬁ‘ﬂ'ot{ﬂoaa =g 1 =T
ad g7

(A) Frforsa oz 3

(B) fefra e 3w

ef Tl whibiT S

(D) frfvrre &R ¥
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. ' i f the H
g the Chairman of aryana
31. ‘;}?ﬂ:; Complaint Authonty?

(A) Dr. K. p. Singh (B) Yashpal Sing,4)
(C) Navraj Sandhu (D) R. C. Vermg
32, Who among the following former Dgpg
" of Haryana, died recently?
(a) S.S. Bajwa
(B) Manmohan Singh
(C) Lachhman Das
(D) R. A. Singh
'33. What is the motto of Haryana Poljce?
(A) Sahyog, Suraksha, Seva '
(B) Seva, Suraksha, Sahyog
(C) Suraksha, Sahyog, Seva
(D) Suraksha, Seva, Sahyog

31. Eﬁmmgﬁaaﬁmmﬁm%amﬁm%?
(A) 3o %o dlo e (B) avu foum
Matmfrg (D) 3Ro o =wt
32. &R % R A 2o sfio do g T
dggdr
(A) THo THo wTefar
(C) w&w |

(B) wie firg

(D) 3o To fire
33. efamn gfem i A1E) w27

g @ T G, A (B e, e, wed
P (O &, wedm, da1 (D) g, e, weAm

&=

ENGLISH LANGUAGE

34, TeER & ¥ SqE
B F R # A 1 A=)
(A) 3 & gur= 7 8
(B) @ =k = 9= wg frawn
(C) ™ & W R Ffkra qer e
(D) svg <afth # 4= fierm

35, “drr ¥ s R qu & R

e fadmor

(A) TuETES (B) H&AEES

(€) whomaT= (D) awAf
36. @ A As-ar e ‘W a i Adi 7.

@aw (B

©) fommr (D) ¥
37. fugnfim = dfy-fed ®

(A) B + sl B) fw: + fim

©) fawm + f= (D) fawEr + fim
38. ‘uAwE’ # H\T-°1 G 87

A) e (B) SHuRA

(©) wged (D) rdt =
30. o = ¥ o w1dE GTS B A, I 1 FEd &2

(A) A B)

(©) arTEs (D) fafa

/1A

40. Find out which part of the following
sentence has an error. If there is no
error, mark your answer as ‘No error’ :

We are happy that our Prime Minister /
(A)

with the members of his Cabinet are /
(B)

to be present at the function. / No error
(C) (D)

41. Choose the correct response and fill in
the blank :

Do you want help?
(A) farther (B) further
(C) some (D) None of these

42. Choose the correct determiner :
knowledge is a dangerous thing,
(A) The little (B) Little
(C) A little (D) The few

43. Choose the correct preposition :
She was married an early age.
(A) for (B) of
(C) at (D) in

44, Fill in the blank with the correct adverb :
His horse runs of all in the group.
(A) slowest (B) slow
(C) slower (D) © more slow
[P.T.O.

1
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45.

46.

- 47.

48.

49.

50.

51.

- (A) Natural gas
" (C) Coal

52.

—th
A pupil was asked to find out 16
of a number. By mistake he found out

5 : -
Eth of the number, His answer 18

250 more than the correct answer. Find
the given number.

(A) 300 [ (B) 480
(©) 450 R (D) 500

If the length of a rectangle is increased
by 10%, then how much should the
breadth be decreased so that there is
no change in the area?

(A) 10% (B) 11%
1 | 1

C) 9—9 11=9

8 33 % D), kg %

Complete the following series :
24, 60, 120, 210,
(A) 336
(C) 512

(B) 270
(D) 500

Which of the following fractions is the
smallest? -

12 14
{ﬂ!_ 13 (B) o

{5 0 25
(C) 21 (D) 6

What should be added from the following
to 51234, so that it is divisible by 9?

(a) 3 (B) 4

€ 5 (D) 6

Speed of sound waves is maximum in
(A) liquids (B) gases

(C) solids (D) All of these

Which of the following is. not a fossil
fuel? '

(B) Petroleum
(D) Wood
The longest bone of the skeleton is
(A) Tibia

(B) Humerus

- (C) Femur

/1-A°

(D) Radius and Ulna

45.

46.

%ﬁmﬁﬁmmw%mmﬁm

) et R 9 9 A F g T % foran|
SUH IW L IR ¥ 250 3iftraw A7) A T wem
1 Hifm
(A) 300

~[B}-480
(C) 450 (D) 500
Foveft st g 1096 3fy O R et

ﬁf‘mﬁwmﬁﬁ,ﬁﬂ%mﬁaﬁé
ufeada 7 a7

(A) 10% (B) 11%

1 1
&)9/5% D) 115 %

47.

48.

49.

50.

51.

52.

Prfifa s =t g S -
24, 60,120, 210,

4336

(B) 270
(C) 512 (D) 500
Freafirfaa 3 & S-at Bt wer wad 91 27
W 13 19
17 25
© 5 @) 56
frafafem # ¥ 51234 § w1 e o, fred
q® 9 | W T T ?
) 3 B 4
€ 5 D) 6
ey o 1 3w A e Bt 27
(A) = (B) &
(C) 3w (D) ¥ & wsht
Frrafafea % S-wr starw o 78 &7
(A) Wt W (B) ugiforam
(C) e (D) Wt
HHT FT W = el 2
(4) fefemn (B) TFRE
(C) dhm (D) tfeaw 3k st
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53.

54.

+ 55.

-56.

57.

58.

59,

60.

The study of algae is known 44
(A) Micology (B) Phycolg
(©) Virology D) Botany

Which of the following is not

correctly? e
Invention Inventgy

(A) Proton E, Rutherford

(B) Neutron Chadwick

(C) Photon H. Yukawa

(D) Electron . J.J. Thomsop

Which Article of the Indian ¢

: Onstitution
provides for State Staff S'electic.n
Commission?

(A) Article 315

(B) Article 318
(C) Article 317

(D) None of these

Who among the followin
member of the R
Haryana?

(A) Kumari Shailaja

(B) Dushyant Gautam
(C) Ramchandra Jangra
(D) D.P.Vatsa

: g is not a
ajya Sabha from

X \
Who said, “The English are free only
during the election.”?

(A) Rousseau (B) Locke

(C) Plato (D) Aristotle

What is known as the shield of direc;f
democracy?

(A) Recall (B) Plebiscite
(C) Referendum (D) Initiative

In which of the following distr'}cts of
Haryana, the legislative post is not
reserved for reserved castes?

(A) Panchkula (B) Dadri
(C) Faridabad (D) All of the these

At which of the following places in

Haryana is the largest foodgrain market
situated?

" (A) Nilokheri (B) Sirsa
- " (C) Bhiwani (D) Ladwa
1A

53.

54,

55.

56.

57.

58.

59.

60.

Yarelt F e weeth R @ w1 sar @

(A) AT (B) wrEIS
(C) amraish (D) siredr
et 3 & S qm g =i 22
T anfrsrres
(A) et Zo WWHIE
B) 3 EEE e
© wem R
(D) gt o o yiwEe

TR wifier % R s i e e
HTE T e 29

(&) aﬁ%?q'?xlS (B]a‘]ﬁ'ﬂ?,lS

() 78R 317 (D) o ¥ g 7
Eﬁ%ﬁﬁ@&wm%wwwmqﬁ%?
(A) TR e

(B) o= virem

(C) Tw=s sTimer

(D) o dio 7w

“maﬁﬂﬁ%ﬁﬁﬁﬁm@m-ﬂln
TR B T 27

(A) =&

(B) @

(€) ==t

(D) areg
mm%ﬂmﬁmﬁﬁaa@m%?

(A) Feter (B) wfiwrze

(©) TwteH D) shfirafes

ERaT & form et ¥ v we, s sy
& ford smrfdrer wdi 2 |

(&) g (B) =l

(C) werag (D) = R asft
et Tt % ¥ efamon 3§ gad =@t s
woEl Rl W R 27

(A) AR (B) R

(C) Prart (D) @

[P.T.O.
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quired for

re Ié
What is the temperat®

sowing wheat crops?
(a) 21 °C-22°C
(B) 15°C-18 °C
(C) 30 °C-38°C
(D) More than 40 °C

61.

g schemes is not
e Haryana
k Ltd.?

Which of the followin b
being irn;:;lemented."3'3Jr t
Krishi and Gramin Vikas Ban

(A) Shelter for animal scheme '

(B) Loan to farmer’s children for hlghef
education :

(C) Purchase of agricultural land

(D) Combined harvesting

62.

63. When was the National Research Centre

on Equines established in Hisar of
‘Haryana?

(A) 7th January, 1986

(B) 7th January, 1987

(C) 26th January, 1986

(D) 17th January, 1987

In which district of Haryana is Ban
Santour located?

' (A) Panchkula  (B) Kurukshetra
(C) Yamunanagar (D) Sirsa

64.

With and keys you can move
the cursor to the beginning or end of a
line.

(A) Home, End

(C) End, Delete

65.

(B) Home, Insert
(D) Escape, Home

software is for making text related

documents like newsletter or brochure,
(A) Spreadsheet

(B) Database Management System

(C) Desktop Publishing

(D) Presentation Program

66.

67. The generic word ____ g related to

some piece of the hardware,

(B) direction
(D) data

() program
_ (C) device
joas 1-A

o

10

61, ﬁéﬁwaﬁﬁmm

62-

H1E

B

63.

64.

65.

(A) 21°C ¥ 29 oc L

(B) 15°C 3 18 ¢

(©) 30°c 38 -c

D) 40 °C & 3w

AL TP e — = o 2
-t Qe s 1 o o
(A) 93 33 G

(B) Fremt 3 areif ) v e 35
(©) Fh-sifir fr whe

(D) ¥ e
ehamn & frar 3
e T 7

(A) 7 ==, 1986
(B) 7 =t, 1987
(C) 26 sait, 1986
(D) 17 s=adt, 1987

ghRam # 99 wak frw Ay Rea 22
(A) T (B) e
AR (D) fra
R el | AT HE B TH L@ §
afe ar ofa A g v €
(a) &, e (B) &, T
(€) wg, e (D) W, T
i - SR S e
a1 AR A F Foll S 1
(4) Brife |
(B) sreraw AAwe faeeH
(C) Fehera afafim
(D) SRRy W
P oy g 3 ol g A
gl
(A) s
(C) fearzm

T e g 7

66.

67.

(B) fréar
(D) 3T

R
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68.

69.

70.

71.

(PCI) €rconnect
(C) Address
(D) Data
IfHELP is coded as 5, then how ié BELL -
coded?
A) 5 (B) 4 LA 0|
© 6 (D) 8 : -QE

72.

73.

74,

75.

76.

/1-A

The backspace key omits the
Jetters of the cursor, ——side
(A) above/overhead (B) right.
(C) left-hand (D) down

Individual users havin
desktop computers are co
or more centralised com
servers are called
(A) monochrome
(C) network

hang

Ninected ¢ One
Puters, These

(B) hub
(D) specia]
bus joins only CPU wj

- : ith
which contains memory addresseg EF:M
(A) Accelerated Graphic .

: Port (AGP]
(B) Peripheral Component Int

The Federal Assembly of Germany’s
Legislative Assembly is known as

(A) Bundestag (B) Bundesrat
(C) Duma (D) Diet

During the British rule, Haryana
became the part of Punjab in
(A) 1857 (B) 1858
(C) 1919 (D) 1947

On the web, the base unit for every
website or document which contains
information is a
(A) weblog

(C) web server

(B) web page
(D) web mail

Find the LCM of 24, 36 and 40.
(A) 120 - (B) 240
(C) 360 (D) 480

The goal of Kartik cultural ceremony
is to boost up -

(A) Agricultural harvestin

(B) Martial art and Folk art

(C) Kite flying

(D) None of the above

11

68,

69.

70.

71.

72‘

73.

74.

75S.

76.

drdE o i F % el o frerd! gl
(&) I (B) 3
(©) am (D) =

AfETe SudiTRdet 3 s Yeheld FE Bl
&, S0 e a arfere i e A 2 O B
A ko wem #) =

(A) Hrshm (B) &

(C) e - (D) Fdw

_'___a'ﬂaﬁ'ﬁ'\‘ﬁo‘iﬁol{\o IR W = AT &
ﬁﬂﬁaﬁawqﬁﬁﬂﬁl

(A) TR Il 9 (AGP)
(B) ¥R wtiz Texeriae (PCI)

©) @&
(D) zrer
afs HELP 9195 5 %, 3 BELL 1 e 31 32
(A) 5 qa))z
©) 6 D) 8
A faerm-a < defv aw B wR wm@ e
() Feem B) FEw@
(C) (D) =rze
fafewr &= & dhm ehamom 3 o
TR =T |
(A) 1857 \@@3
(C) 1919. (D) 1947
9 TR WS eI 1 R 6 AR 5
2, fordl g 4 )
(&) ¥ @i B
(©) TR (D) et
24, 36 3K 40 F1 TYTH T TG HA|
(A) 12 (B) 240
360 (D) 480

ifiles e Eie 1 A ___ H g
TR - |
(A) Fyerd
et E T A Fel
(C) FTEe FT
(D) I 3 A B TRl
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77.

78.

79-

81.

82.

83.

Kimberley is famous for
(A) Silver mines

(B) Diamond mines

(C) Platinum mines
(D) None of the above

When did the Indian Penal Code come
into force in India?

(A) 1860
(C) 1864

(B) 1861
(D) 1857

An Indian commits murder in Uganda.
Can he be accused and judged, if found
anywhere in India?

(A) Yes

(B) No

(C) India will hand him over to Uganda
(D) None of the above

When did the Indian Government
repeal the Article 370 in the State of
Jammu and Kashmir?

(A) 15th August, 2019
(B) Sth August, 2019
(C) 6th August, 2019
(D) Sth August, 2020

When a crime is committed, which of the
following is taken into consideration for
investigation of crime by the police?
(A) Acts related to the victim '

(B) Acts related to the accused

(C) Both (A) and (B)
(D) Only the accused is inquired

Who was the President of the Police Act
Drafting Committee?

(A) Shri Soli Sorabjee

(B) The Judge of the Supreme Court
(C) The Judge of the High Court

(D) None of them

Who among the following was not the
National Security Advisor of India?
(A) Shiv Shankar Menon

(B) J.N. Dixit

(C) T.N. Seshan

. (D) Ajit Doval

/1-A

|
77, T frafd wfig R7
(A) =rcr 6t @F
\(Bxfﬁemw
%%m C) wfemdram |
(D) IR # & HE 7@
78. Wi ¢z wfar wRa # @ w0 EE?
(A) 1860 (B) 1861
(©) 1864 (D) 1857
79,

80.

81.

82.

sal

IR &1 T AR el 7 gedl K oal gl Al =g
e % e e W, ST g I T, TSR T
& o ferefea ik 3t Rig T o w22
(&) =

(B) &

(C) wra & Swier = |

(D) IR ¥ ¥ HrE e

ARG TR TR § 8RT 370 §AIH
& FHH & T fom?
(A) 15 s, 2019 #
(B) 5 s, 2019
(C) 6 3, 2019 #
(D) 5 3nm&, 2020 #

STl s Ty forn S B, @ - Pl
fora = qferm s 6t = 3 s 27
(A) difeq & Gl wrm

(B) Rt R e=fa

(©) (A) 3K (B) 3w

(D) Fae Rt it &= e &

gfera Yz frmrfor it & seme w49
(A) = Helt Tt

(B) I=am < H T

(C) ¥ <A F T+

(D) &0 A =g 7

T A DI WA 1 TE G AR T
(A) frasie Fmm

(B) So To S

(C) &o o Juwr

(D) sfwa Sar=
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gh when was the QO

jaunched? R Muskan ' .
D
( - ( ] None of these (C) 2015 (D) Eﬁaﬁg:{ﬁ
gs. Vallathol Narayana Mengp, o Tl
for which Indian dance formp amoyg 85. agdia A A g R IR T
(A) Kuchipudi (B) B % Whrg e A2
(C) Mohiniyattam (p Kath ak:r (A) Fhagdr (B) AR
i

86. In a family, the father tak
€S 1 .

of a cake which is 3 times t}f Portfon
taken by each of the other € Portign

What is the total number g Memberg.

(C) Mfargn (D) ekt

86. T e 3 v X 3 1, e forn 1
I e T gy fer g e T i AT AT

in the family? f Memberg ma‘ T Hew Eﬁ(;i}@q; frat 27
@3 N
(€ 10 ) 7 U M D) 12

D) 12 gﬂfﬁéﬁ

87. wfamn ¥
87. The heavy soil found in Th AR T Y el Y fredt =

of Haryana is known as o dlistrict (a) ﬁﬂf? (B) g
(A) Domat (B) Nell © F& . (D) T A
(C) Kaithal ' !

(D) None of these

' 88.
88. Mahmud Ghaznavi HER TS W gRamn ¥ ameR w -

in Haryana in attacked Thanesar simsher e . -
(A) 1054 (B) 1014 i‘;‘) ]]:Zi: ~LB)/1‘014
(C) 1263 (D) 1492 _ . (D) 1492
89. In human bei ‘ . 9. ‘HWWW'_‘__@(WW%{%ﬁ
= eings, ‘dark adaptation g W )
time’ increases due to deficiency of . A
(A) Vitamin A (B) Vitamin B ) fefra @) fafes
(C) Vitamin D (D) Vitamin C © Fafmp (D) frafe e
90; “Whenwas fhe thPaticestailidiodinte | = W;T PR St G sl
_Panchkula district of Haryana? i .
(4) 2004 (B) 2006 M"' (B) 2006
(C) 2008 (D) 2005 2008 (D) 2005
. ‘ ,
91. ‘Right to Information Act’ was-passed oL, E:Tm e sfirfram Tora and 3 @
in which year? :
(A) 15th June, 2005 . (A) 1554, 2005
(B) 20th April, 2008 - (B) 20 s, 2008
(C) 19th March, 2005 ' (C) 19 @, 2005
(D) 15th June, 2006 _ (D) 15 S, 2006
92. Hitesh is 40 years old and Roni. is 92, fedw it arg 40 ad 3k A 6 ag 60 o By
60 years old. How many years ago, e foram o Uget ST Y Y T AU 3:5 AT?
ages were in the ratio 3'75? as - @ 10 ;
(A) 5 B) 10 (© 20 D) 37
© 20 (D) 37

3 [P.T.O.
/1A ) 1?

= L ——e———— T L ST
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93. If ‘white is coded as blue’, ‘blue is coded
as red’, ‘red is coded as yellow’, ‘yellow
is coded as green’ ‘oreen is .coded as
black’, ‘black is coded as purple and
‘purple is coded as orange’, then what
will be the colour of human blood?

(A) Green (B) Yellow
(C) Purple (D) Orange

A man has some hens and cows. If the
number of heads is 48 and the number
of legs is 140, then what will be the
number of hens? _

94,

(B) 23 |

(A) 22
€ 24 (D) 26
95. What will be sum of all odd numbers
up to 100? :
(A) 5050 (B) 2500
(C) 2525 ‘(D) 5000
96. Which Forest Festival was celebrated
recently in Haryana?
(A) 70th
(B) 71st
(C) 72nd

(D) None of the above

Who among the following cricketers was
felicitated with the Rajiv Gandhi Khel
Ratna award?

(A) Rohit Sharma  (B) Virat Kohli
(C) Both (A) and (B) (D) None of them

The number of districts in Haryana at
the time of its formation was

(a) 7 (B) 17
© 9 (D) 21

Who is the present Governor of the
Reserve Bank of India?

(A) Gita Gopinath (B) Urjit Patel
(C) Shaktikanta Das (D) None of them

How many wetlands have been
recognized under National Wetland
Conservation programme in Haryana?

(A_l 2 (B) 3
€ 4 ‘(D) 1
/1-A

97.

98.

99.

100.

9
93. Rk ‘g F AW, A T A, T
tﬁﬂT’, ‘tﬁmﬁgm’, ‘ET[E}TW’, ‘q‘TﬂTﬁ
At o ‘St AT FE A R, T gy
of Th 1 1 4T B 7
gﬁ (a) & (B) e
(C) st (D) AT
94. w st ¥ e g el AR B AR Py
qE 48 3k &I i w@r 140 2, T g}
HE et gt ?
(A) 22 (B) 23
(€) 24 (D) 26
95. 100 % ww! forem G@mail &1 IrThet 91 B ?
(A) 5050 (B) 2500
(€) 2525 (D) 5000
96. @ # g & # FH-°1 ‘97 Wered’ WA
. T ? :
(A) 70at
B) 7
72aT
(D) IRKH H A B 7
97. T ¥ e firdex = Tl it d&-t &
weTta foma a7
(A) Ufea mt | (B) firre wreeht
(€) (A)dR(B)3AT (D) T & FrE 7
98. & & wRg el e 4l
7 (B) 17
© 9 | (D) 21
© 99, YR fwd ¥& (RBI) & 9@ &k &4 €7
(A) ¥ AefTY - (B) 3hfa wa
(C) witreia g@ (D) &8 & HrE T
100. gRamm % adE SR wRewr S H A
Wﬂmﬁﬂﬁ?
| 2 B) 3
(C) 4 D) 1
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